Conroe Independent School District
Caney Creek and Conroe Expanded
New Junior High School Scenario B.1

* Current Junior High Schools

* New Junior High School

Attendance Zones

Scenario B.1 Building (Capacity / Total)
MOORHEAD JUNIOR HIGH (1600 / 1018)

NEW JUNIOR HIGH (1600 / 842)
PEET JUNIOR HIGH (1350 / 1189)
STOCKTON JUNIOR HIGH (1400/1012)
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Conroe High School
Elementary

1. Anderson

2. Armstrong

66. Bartlett (excluding zones 20A, 20C, 21, 22,

22D, 22A)

10. Giesinger

64. Gordon-Reed

14. Houston

49. Patterson

27. Reaves

19. Rice

21. Runyan

57. Stewart

50. Wilkinson
Intermediate

49. Bozman

41. Cryar

57. Stewart

14. Travis

70. New Intermediate
Junior High

56. Peet

49. Stockton

70. New Junior High
High School

33. Conroe 9" Grade Campus

36. Conroe

69. Timber Mill High School
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Caney Creek High School

Elementary
3. Austin

66. Bartlett (Only zones 20A, 20C, 21, 22,
68. Campbell (only zone 33K)
6. Creighton

62. Hope

16. Milam

22. San Jacinto

Intermediate

16. Grangerland
68. Campbell (only zone 33K)

25. Veterans Memorial

Junior High

63. Moorhead

High School

31. Caney Creek
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